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) e cL e C - 9. A canoe [eaves 2 dock on Lake Claire and heads in a direction N71°E for N
H n—.uﬂﬁ.—_m-. Test e . ) - 1.9 ke, At the same time, 2 second canoe travels in a direcrion $28°E from canoe ]
’ the dock for 3.1 km.
MULTIPLE CHOICE The distance berween the canoes is km, o the nearest tenth of a dock
Derermine the measure of the indicared angle, to the nearest degree. kilometre.
1. 160m 2. ) 3. 101 km 10. In a parallelogram, two adjacent sides measure 4.2 cm and 5.9 cm. The
539 cm 195 em - shorter diagonal is 2.6 cn.
- .6 m
187 m The larger angles in the parallelogram measure __°, to the nearest degree.
444 cr 9.4 km
vﬂ An atmospheric scientist is trying to determine the altitude (height above
A 59° C. 44° A, 54° C. 80° A, 31° C. 59° , Farth’s surface} of a circular cloud directly above him. The scientist measures
B. 46° D. 79° B. 46° D. 41° B. 64° D. 22° the ms.mwm of elevation ro the north end of the n_mnﬁ_ to m,.w mm.n and the angle o.m canoe 2
elevation o the south end of the cloud o be 85°. The scienrist knows that this
Determine the indicated side lenggh, to the nearest tenth of a unit. cloud has a diameter of about 150 m.
4. X 5. The altitude of the cloud, to the nearest metre, is m.
. 263m 43im V.A A bush pilot delivers supplies to an isolated village by flying 470 km in the
60 km : direcrion NGG’E. While ac the village, the pilot decides thar she must refuel ar
- > 2 carnp located 35 km $11°E of the village.
By the time she returns to her staxring poin, the pilor will have flown a toal
A 3.8 km C. 46km A 272m € 22m distance of lem, to the nearest kilomerre.
B. 4.2 km D. 5.0 km B. 33.8m D. 383 m
6 7 x WRITTEN RESPONSE
13. Two airplanes leave Hay River airport at the same time. One flies ar A
B&em 587 550 km/h. The other flies at 330 km/h, Abour 2 h fater, they are 1200 km 1100 krm
B6Em apart. Determine the angle berween their paths, to the nearest degree. 660 km
1200 km
A, 15.6¢m C. 12.2em A 1022 m Co94m
B. 7.8 cm D 10.5em B, 85.5m D. 737 m
NUMERICAL RESPONSE
8. Dertermine the indicated side length, to the nearest tenth of a unit, or angle
measure, to the nearest degree.
a) In AABC 6= 14.0m, c = 9.3 m, and £A4 = 66°.
Therefore, 2 = .
b) In AVWX, v = 60 cm, x = 85 cm, and £ W = 20°,
Therefore, w = cm.
<) In ADEF, d= 422 cm, ¢ = 47.8 cm, and = 50.1 cm.
Therefore, £D = ___°.
Copyright @ 2012 by Nelson Education Ltd. Chopter 3 Test 81 82 Chapter 3 Test Copyright @ 2012 by Nelson Education Ltd.
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M. Determine the length of x w the nearest tenth of a cenrimerre and the u n:mv.ﬂm.-. . .—.mm.ﬂ
measure of & to the nearest degree. MULTIPLE CHOICE
Py B 7 1. Which measure would be best for comparing marks on several math rests?
A. range B. mean C. median D. mode
oem * 2. For this set of data, whar are the mean, median, and mode, respectively,
to one decimal place?
X om = 2,4,6.6,7.8,10,12, 15
A 70,78,6 B. 7.8,7.6 C 67,78 D. 71,7, 6
HEHN»MMUWM = 47°, 4= 3.5 cm, and & = 5.0 cm. Decermine the murber 3. Which of these is a feature of 2 histogram bur not of 2 frequency polygon?
of wiangles (zero, one, or twa) thar are possible. Draw a diagram to support A. Data is organized into 5 1o 12 equal-sized intervals,
YOUr answer. B. The frequencies of vajues that fall within each interval are recorded.
C. The frequency data is plotted on the verrical axis, i
D. The data is represented by bas, ,
4, What is the expression for caleulating the standard deviation of s set of data?
| " Mﬁkxi #* B, Mf.ml x)? c M?xi ) D. (x - 5)? \
N 5. Which set of percents correctly describes the distribution of dara one, two, ﬁ
and three standard deviations about the mean in a normal distribudion? m
ﬂ A, 34%, 50%, 52.35% C. 68%, 95%, 99.7% _
| B. 68%, 95%, 100% D. 95%, 99.7%, 100% _
6. Which is the correct formula for calculating a z-score? _
13. A mass is suspended on a length of cord. The ends of the cord are arrached o : Aog o= H B. z = g C o= D og=r_9

o o o i
7. The mean of a set of data is 4.5, with a standard deviarion of 0.6. What is the
zscore for a value of 10.92

the ceiling 1.4 m apart. The angles formed by the ceiling and the cord are 26°
and 32°. Determine the length of the cord, to the nearest tenth of a metze.

A, 107 B. —0.4 C. 107 D. 23

8. Which is the correct expression for the confidence interval “twenty-one
percent with a wo point four percent point margin of error”?

A 21% £ 2.4 B. 21 = 2.4% C 2124 D. 21% *+ 2.4%
9. What is the range for the confidence interval 47.8% * 3.7%:

A. 47.8% C. 44.1% w0 47.8%
i B. 44.1% 10 51.5% D. 47.8% 10 51.5%
h 136 Chapter 5 Test Copyright © 2012 by Nelsan Education Lid.
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18. 'The ages of members of a cycling club are normally distribuced. The mean is
33 years, and che scandard deviation is 5 years.

a) Whart percent of members are berween 25 and 40 years old?

b) John is 2 member of the club and is 20 years old. Whar percent of
members are less than 20 years old?

192, A manufacturer offers 2 warranty on its CI burners. The burner has a mean
lifespan of 7 yeass, with a standard deviztion of 0.5 years. Far how long
should che burners be covered by the warranty if the manufacturer wanes to
repair no more than 2.5% of the burners sold?

20. A survey of 200 shoppers at a grocery stote indicated that 75% preferred
smooth over chunky peanut butter. The results wers accurate within 3.3
percent polnrs, 9 times cut of 10.

a) Stare the confidence level.

b) Determine the confidence interval.

¢} 1f there were 1000 shoppers that day, how many would prefer chunky
peanurt butter?
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MULTIPLE CHGICE

1. Suppose you graph the linear inequalicy 2x + y < 4. Which set of statements
describes the graph of the linear inequality?

A. The boundary line is a solid line. The plane is shaded above the line.
B. 'The boundary line is a dashed line. The plane is shaded above the fine.
C. The boundary line is a dashed line. The plane is shaded below the lize.
D. The boundary line is a solid line. The plane is shaded beiow the line,
2. Which linear inequality is shown in the graph?
Admny—x= —L,xEWyEW} Clmnly—x=2 -2, xERHYER]
B ((5)]y=x>~2xEWIEW Disy)|y-—x>-2x€Ly]

3. Which is 2 sclution to the system of linear inequalities?
) |x+y>5,xELyE D
iy —x<4x€Lye]
A (3,1 B. (45, 0) Co(~2,1) D. (=3, —1)

4, Consider this system:
{3y +x= 3, xERyER}
{omix—y<4,xERyER
The boundaries for the two inequalities intersect at the point (3,75, —0.25).
Which statement abour this poinr is most accurate?

A. The poine is not in the solution set, because its coordinates are not whole
numbers.

B. The point is in the solutfon set, because it lies on both boundaries.

C. The point is net in the solution set, because one of the inequality signs
is << or >,

D. The paint is in the solution set, because one of the inequality signs is =< or =
5. A sports equipment manufacturer produces snowboards and skis. It takes 4 h
to cut and mould each board and 1 h to put on the finishes. It takes 4  to cut
and mould and 2 k to put on the finishes for a pair of skis. The otal number
of snowboards and pairs of skis produced per day is at most 15.
Let « represent the number of snowboards and & represent the number of
pairs of skis made in one day or less. What are the restrictions on @ and &
A. no restrictions B.zEN,LEN CaELLE] D.2EW LW

174  Chapter & Tes! Copyright ® 2012 by Nelson Education Ltd.
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b} Write a system of linear Inequalities to model this situation.

<} Graph the system of linear inequaliries on the grid provided.

d) Determine the verrices of the feasible region,

€) Which of the following are solutions to the system?
(55, 65), (25, 25), (45, 50

Whart does each soluricn mean?

13. Jenna and Rhiana sell tacos and burritos from a food cart.

* No more than 50 tacos and 75 burrizos can be made each day.
* Jenna and Rhiana can make no more than 110 items, in total, each day.
* It costs $0.75 to make a raco and $1.25 o make a burrito.

Creare an optimization model and use it to derermine the maximum and
minimum costs to produce the food items.
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H Chapter Test

MULTIPLE CHOICE

1. Which parabola corresponds to the greatest value of ¢, the constant coefficient

in the function y= o + bx + ¢}

AU BTG

2. Which of these equations represents the parabola shown?
Ay=—x{x—35)+ 1 Coy=~x+06x—35
B.y=~x=6x+35 D.y=—x—5P+1

3. What is che vertex of flx} = ~0.5(x + 4)* — 22
A 4 -2 B. (-2, —4) C. (2, —4) D. {—4, ~2)

4. Whar is the equation of the axis of symumetry of flx) = —Sx(x — 7) + 217
A x= 7 B.x=0 C.x=3.5 , D ox== -7

5. Which equation is a quadratic equation in standard form?

A =3+ 2 —~5=0 B. 2x* — Sx = 15 Cfle) =22 43x—35

B. Select the one correct statement abour the quadratic equations cotrespo

to these graphs.

A. Equation I has no solurion,

B. Equations I and III each have at least one real solution.
C. Each equation has at least one real sofution.

D, Equation II has two solutions.

7. The graphs of flx) = 5.55 + x — 1.1 and glx} = 4x(3 ~ x) are shown,
Estimate the roots of 5.522 + x ~ 1,1 = 4x(3 ~ ).

Ax=—0landx= —12 C.x= —0landx = 1.3

B.x=13andx = 8.8 D.x=~1l2andx~ 8.8
8. Which of the following are roors of #* — 9x — 52 = (2

A x= —~4dandx= —13 Cx=—4andx= 13

B.x=4andx= ~13 D.x=4dandx= 13

212 Chapler 7 Test
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23. White the equation in vertex form of the parabola shown.

a Chapter Test

MULTIPLE CHCICE

1. The dosage of an antibiotic medicine for a person with a mass of 65 kg is
12 mL. Which equation determines the amount of medicine, P, in millilitres,
needed for a person with a mass of 40 kg?

24, Determine the zeal roots of each quadraric equation, if possible. Give an exact A _p _lml C _f 2=l
answer and an answer o two decimal places. If it s not possible, explain why. G5kg  40kg 40kg  G5kg
a) 264 —3lx—2=0 b) 414 — 272+ 3 =10 , p L Sk D%k
12ml. 40kg 40kg  12ml

2. Dara for triangle ABC is shown on the first line of the table. Triangle A5C is

enlarged by a scale factor of 150%. Which wiangle is the enlargement?

. “Léngthof - |- -Height of + | = “Areai(em?, Hgi:
) Triangle ‘Base {em) | . Triangle'{em) | .nearesttenth) -
ABC 5.00 3.00 7.5
A. DEF 7.50 4.50 16.8
i B. GHi 3.50 3.50 9.6
A, A midway ride launches passengers into free fall as they rise into the air, then C. JKL 15 8.00 67.5
-* ™ fall until the brakes engage to bring them to a safe stop. The free-fall part of D. MNG 2.00 i.20 1.20
the ride starts at a height of 45 m, reaches a maximum height of 76.25 m afy
2.5 5, and ends afier mm.w . 8 e 3. Ifa bar could fly at its top speed for 2.5 b, it would fly 62.5 ke, If an
elephant could run at its top speed for 15 min, it would run 10.0 km.
a) Determine a quadratic model for the height of the ride after # seconds. Which aniraal is faster?
A. A bat can fly 4t 25 km/h and an elephant can run ac 40 km/h.
The aner.: is faster.
B. A bat can fly at 40 ken/h and an elephant can run at 25 km/h,
The elephant is faster.
C. A bat can fly at 25 lan/h and an elephanc can run ar 40 km/h.
The bar is faster.
D. Both animals travel at the same speed.
b) Determine the height 2bove ground where the brakes engage.
NUMERICAIL RESPONSE
4. Irtakes 3 h 20 min o Aill a 5100 L water tank. Determine the time, to the
nearest minute, it will take to fill 2 6200 L tank.
. |
Copyright @ 2012 by Nelson Education Ltd. Chopter 7 Yest 215 7 Copyright © 2012 by Nelson Education tid. Chopier 8 Test 247
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Foundations of Math 11
Year End Review
Factor each completely.
1) & — 12k + 35k

3) 2nt -2

S) x* — 64

7y — 1087 + 24r

9) 27p* + 66p — 45
11) 54567 + 3005 — 144
13) 45v* —350v — 80
15) 30x? - 87x + 30
17) 4b* - 25

19) v* - 16

21) vt -9

23) 18p% - 50

Solve each equation by factoring,

25) 8n* + 192 = 80n
27) P +24=~11r

29) 4x” - 8x =96

31) 7+ 56=57r

33) 40x? =64+ 112x
35) Tv? 4+ 62v = —48

Sketch the graph of each function.

37) y=—(x+1Y +3

A
4

Y

Name

Date

2) n® +8n-20

4) 3r% ~3r — 60

6) n* —9n° — 10K°
8) x* —10x* + 21x
10) 6a* + 294 + 30
12) 9%% + T3k 72
14) 24n* — 76n + 40
16) 9x* +22x + 8
18) 32x* — 18

20) 20a” -5

22) 64k -4

24) 80x? - 45

26) m* + 8m =16
28) 4n’ =192 - 8n
30) 4 =44b - 112
32) 7n’ =8n

34) 8a* =—120 - 68a
36) 3x? + 10x = —8

Y

Period



Foundations of Math 11
Year End Review
Factor each completely.
1) &> - 12k% + 35k

3) 2n* -2

5) x* - 64

7 — 1087 + 24r

9) 27p* +66p — 45
11) 54h* + 3005 — 144
13) 45v* — 350v — 80
15) 30x% — 87x + 30
17) 4b* =25

19) v2 - 16

21) ' -9

23) 18p* - 50

Solve each equation by factoring,
25) 8n* +192=80n
27) ¥+ 24 =—11r

29) 4x* ~8x=96

31 7% + 56 = 57r

33) 40x* = —64 + 112x
35) Tv? + 62y =48

Sketch the graph of each function. -

37) y=—(x+1)*+3

A
Y

-

Name

Date

2) n* +8&n—20

4) 3r% = 3r - 60

6) n* —9n® - 10n*
8) x* — 10x* +21x
10) 6a* +29a + 30
12) 9% + 73k~ 72
14) 24n* — 76n + 40
16) 9% + 22x + 8
18) 32x% - 18

20) 204 5

22) 64k* - 4

24) 80x* — 45

26) m* +8m=-16
28) 4n* =192 - 8n
30) 4b% =44b - 112
32) Tn* =8n

34) 8a* =—120 — 684
36) 3x + 10x = —8

38) y=—20x-1)° -4
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.
y -6l
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43) y=—(x-4)" +2 44) y={(x 47 +1
A A
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-1 8 [ R i
-1 g
2 4}
: I il 3 6
-4 -1
. 4

Find the measure of each angle indicated. Round to the nearest tenth.

46)




47) 48)

T4
70 10
é
B 4 11.4
B
49) c 50) c
127 K 8 N 3
g 7
4 5 B 49 A

Find the measure of each side indicated. Round to the nearest tenth.

52)

51
) C

3 58° - 4
5‘7
)

75°

A 12 B

55) .
13.8 :65°
f‘f % E C
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D Hk—-5)k-7)

5) (x+ 8)}{x—8)

2 9) 3(p+3)9p-5)
13) 5(v - 8)(9v +2)
17y (26 + 5)2b - 5)
21) (n+3)n-3)

Answers to Year End Review

2) {n—2)(n + 10)

6) n*(n—10)(n + 1)
10) (2a+3)(3a + 10)
14) 4(2n - 5)(3n-2)
18) 2(4x + 3)(4x —3)
22) 44k + 1)(4k - 1)

3 2(n + 1)(147 1)

7) Hr—4)r - 6)

11) 6(5 + 6)(95 — 4)
15) 3(5x -~ 2)}(2x - 5)
19) (v+4)v - 4)

23) 2(3p + 5)(3p ~5)
27y {

o]

6
35){ 7 }
39)

25) {4, 6} 26) {-4}
29) {4, 6} 30) {4, 7}
5
34) {m ——6}
2
38) A
- 174
k
40) A 41)
DERE N g b K A
43) 44)
;
-
W $E 0 1
Y Y
46) 69° 47) 37.6°
50) 52.2° s1) 6.8
54) 16.1 55) 12.5

4y 3

(r+
8) x(x—
(lc +

4
12) (k+9

16) (x+2)(

)
7)
X

(x - 3)
9k —
Ox

-5)
8

)

+4)

20) 5(2a+1)(2a - 1)
24) 5(4x + 3)(4x ~3)

28) {

8
32) {7

L2

L=

s
,._.«q____\

45) 34.3°
M o}
48) 58.4° 49) 32.2°
52) 6.8 53) 3.1
56) 17.9




